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The vertices A, B, C and D of a quadrilateral ABCD lie on a circle. ∠A is thrice ∠C and ∠D is twice ∠B.
What is the difference between the measures of ∠B and ∠C?
एक चतुर्ुजु ABCD के शीर् ुA, B, C और D एक वतृ्त पर स्थित हैं। A C का तीन गनुा है और ∠D, B 
का दोगनुा है। B और C के मापों में क्या अतंर है?

1)15°
2)28°
3)18°
4)20°



When an article is sold for ₹291, there is a loss of 3%. What will be the selling price of the
article, if it is sold at a gain of 8%?
जब कोई वथतु ₹291 में बेची जाती है तो 3% की हानन होती है। यदद वथतु को 8% के लार् पर 
बेचा जाता है, तो उसका ववक्रय मलू्य क्या होगा?

1)₹308
2)₹332
3)₹324
4)₹316



Amit travelled from A to B at an average speed of 80 km/h. He travelled the first 75% of the distance
in two-third of the time and the rest at a constant speed of x km/h. The value of x is?
अममत ने A से B तक 80 ककमी/घंटा की औसत गनत से यात्रा की। उसने पहली 75% दरूी दो-
नतहाई समय में तय की और शेर् दरूी x ककमी/घंटा की स्थिर गनत से तय की। x का मान है?

1)56
2)60
3)64
4)54



During the evaluation of SSC CGL Description exam, Marks of a student is first increased by 31% and then 
reduced by 20%. If the final value is 524, then what is initial of marks? 
एसएससी सीजीएल वववरण परीक्षा के मूल्यांकन के दौरान, एक छात्र के अंकों में पहले 31% की वदृ्धि 
की जाती है और किर 20% की कमी की जाती है। यदद अंनतम मान 524 है, तो अंकों का प्रारंमर्क क्या 
है?

1)450
2)495
3)500
4)510



1) 0
2) 1
3) 2√3
4) √3



The ratio of the present ages of A and B is 6:5. Four years ago, this ratio was 5:4. What will be
the ratio of the ages of A and B after 12 years from now?
A और B की वतमुान आयु का अनुपात 6:5 है। चार साल पहले यह अनुपात 5:4 िा। अब से 12 
वर् ुबाद A और B की आयु का अनुपात क्या होगा?

1)3:2
2)8:7
3)9:8
4)7:6



A, B and C can finish a task in 42 days, 84 days and 28 days, respectively. A started the work. B joined
him after 3 days. If C joined them after 5 days from the beginning, then for how many days did A work till
the completion of the task? 
A, B और C एक काय ुको क्रमशः 42 ददन, 84 ददन और 28 ददन में पूरा कर सकते हैं। ए ने काम शरुू 
ककया। 3 ददन बाद B उसके साि जुड़ गया। यदद C शरुुआत से 5 ददनों के बाद उनके साि जुड़ जाता है, 
तो काय ुपूरा होने तक A ने ककतने ददनों तक काय ुककया?

1) 20
2) 15
3) 17
4) 18



Ram travels 30km with a speed of 60km/hr. He travels another 50km with a speed of 20km/hr. what
is his average speed for the entire journey? 
राम 60 ककमी/घंटा की गनत से 30 ककमी की यात्रा करता है। वह 20 ककमी/घंटा की गनत से 
अन्य 50 ककमी की यात्रा करता है। पूरी यात्रा में उसकी औसत गनत क्या है?

1)13 1/3
2)16 2/3
3)26 2/3
4)NOT



1)9:16
2)5:4
3)3:7
4)NOT



The ratio of monthly incomes of Ram and Pankaj is 7: 4 and the ratio of their monthly expenditure is 4: 3 if 
Ram and Pankaj saves Rs. 7000 and 2500 respectively per month, then what is the sum of their monthly 
incomes?
राम और पंकज की मामसक आय का अनुपात 7: 4 है और उनके मामसक खच ुका अनुपात 4: 3 है यदद 
राम और पंकज रुपये बचाते हैं। प्रनत माह क्रमशः 7000 और 2500, तो उनकी मामसक आय का योग 
क्या है?

1)26800 Rs.
2)24200 Rs.
3)23900Rs.
4)22000Rs.



1)7.5
2)17.5
3)12.5
4)NOT



The average of 12 numbers is 32. if a 13th number is included, then the average becomes 34. What 
is 13th number?
12 सखं्याओं का औसत 32 है। यदद एक 13वीं सखं्या को शाममल कर मलया जाए, तो औसत 
34 हो जाता है। 13वीं सखं्या क्या है?

1)56
2)58
3)52
4)60



What is a single discount equivalent to two successive discounts of 16 2/3% and 20%?
16 2/3% और 20% की दो क्रमागत छूटों के बराबर एकल छूट क्या है?

1)36 2/3%
2)33 1/3%
3)35 1/3%
4)30 2/3%



What is the HCF of 36 × 57 and 25 × 35     

1)729
2)243
3)496
4)1458



Dev can do a piece of work in 17 days. Arun can do same work in 5 days. If they started working
together, in how many days will they complete work? 
देव एक काय ुको 17 ददनों में कर सकता है। अरुण उसी काम को 5 ददनों में कर सकता है। 
यदद वे एक साि काम करना शुरू करते हैं, तो वे ककतने ददनों में काम पूरा करेंगे?

1)3.2 days
2)3.4 days
3)3.8 days
4)3. 5days



Speed of a train is 324 km/hr. Distance traveled by the train in 198 second is –
एक टे्रन की गनत 324 ककमी/घंटा है। 198 सेकंड में टे्रन द्वारा तय की गई दरूी है 

1)16984 meter
2)13791 meter
3)14423 meter
4)17820 meter



In a ∆ ABC, I is the in-center. If ∠ BAC = 35° then find ∠ BIC = ?
ABC में, I कें द्र में है। यदद ∠BAC = 35° है तो ∠BIC = ?

1)70°
2)72.5°
3)107.5°
4)130°



1)7.23
2)9.49 
3)8.41 
4)7.84


